
Exercise 

Add the following. 

HTO HTO HTO HTO 
40 0 

+3 4 0 

HTO 70 4 7 3 6 3 1 4 
2 3 5 1 4 2 +1 4 2 56 0 +4 0 1 

846 636 
HTO HTO HTO HTO HTO 

635 4 0 3 7 4 1 3 2 8 4 8 9 
+297 16 99 +2 9 4 +2 22 27 6 

00 940 622 
HTO HTO HTO HTO 
5 9 4 

19 7 
75 9 

+1 7 9 

HTO 
677 5 9 5 6 5 2 

+2 9 8 +25 9 +2 6 5 

938 893 2 

HTO HTO HTO HTO HTO 
23 3 7 6 3 11 5 6 9 6 8 1 -6 0 8 +1 1 9 +7 9 9 +3 4 3 +149 982 940 942 30 

HTO HTO HTO HTO 
3 4 8 HTO 

3 17 3 6 3 2 25 
+3 7 4 

599 4 

1 0 2 5 8 8 
+21 5 +21 5 +2 6 0 

2 S78 
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